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Yotei= You have four choices for cach objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
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Lixecution Syntax Logical crrors Runtune Typographical crrors in BASIC statements are
Errors errors CITorg '
U% ' (_I,Kd: (_j‘b/ _—(ﬁ;f}—juj(}l?u‘ﬂfu’;;‘rhi:JC—JJE}JJ:JL&;v_(f/rf 3
Hyphen Comma Semicolon Colon [f'two or more statements are wrilten _{j_tgtfug;.
on a'line, they must be sepcrated by a
_gJJc,A/ L Jgs rif,/u‘J 4
I4 F2 171 I3 Which of the-folfowing shorteut key is used to save
o Whilein GW-nASIC? |
7 5 3 ! "V”FV"O f/v P J,/‘-f]_; LesHS s
In GW-BASIC, types of control structures are
L LTS s e A i gd | 6
NEXT sSthp SKip W]li(‘ hkcyword 1s used to increment ‘-'.;.L“JTJLJ’I
ordc.cr‘cmcnt a counlter by a value that you specify? | .
4 3 2 ;I i?cerc »..u’(,»- types of array. _wrl.-;l.-___(,((.‘.ﬂ T
e 21y S el ce b S e 7 A g
Slructure Scalar Multple Array A variable thatholds a large group ol similar lype
value variable of data is called. ~
L/“.g_f rl/;/_‘../ J,U .z L(u‘"" ..&___l.;(al/(‘- DAY ._)” é_.) fri/:/J:}’ 9
Units Sub File Arrays A large program can be divided into ~< b
proprams smaller parts called
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Answer bricefly any Four parts from the followings.

s meant by RUN-Time error?
Syntax.
1e Syntax of IF-THEN statement.

Nested Loop.

¢ statements exceuted in sequence conlrol structure.

lown the syntax of FOR-NEXT Loop.

Answer briefly any Four parts from the followings.

5 the use ol diveel mode?
constants?

he syntax of PRINT statement?
vy ?

he name of different types ofarray?

s meant by array index?

Answer bricfly any Four parts from the followings.

s the use of INT function.

> user-defined function.

1s meant by subroutine.

-ntiatc between program file and data file.
c pixel.

is the use of text mode in BASIC.

Note: Attempt any Two Questions.

ne algorithm. Write down the strategy for developing

porithm,
-ribe the rules of naming variables in GW-BASIC.
¢ a program (o produce five concentric circles of

dent radil?
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will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed.

,C and D. The choice, which you think, is correct; fill that circle in
ling two or morc circles will result in zovo mark in that

and fill bubbles accordingly,

(D) (C) (B) (A) QUESTIONS Q-1
A Ly TSP B BN (P e OS2 |
Remarks Processing Decision lnput/Oulput The diamond symbol represents the
e making
J“J‘, W (jb/df JK g,ffl}‘.-u[}d.buﬂau’y‘:/ul;)c_»&»ufzui:ug/ﬁ 2
Hyphen Comma Semi colon @olbn Iftwo or more statments arc written ..‘g‘_l_gl:/l A
i . ) on a line, they must be separatcd by a
Il sufd Lo o o1 Loy tdansid | 3
1’4 F3 F2 71 Which of the following is a short key Lo vl
savc aprogram in GW-BASIC?
, WHILE- _ IF-THEN- e AL St | 4
=T TN o NEXT-1FOR o e O T '
B WIEND Lyl 1*Which is idgop statiient?
, } - 4 ol , bt ';.'.;JU;D/U?J FM wc..“rj’t(j )
5 4 3 2 o iy Tt
- N How many types of Loops in GW-BASIC?
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N(4) N(D N(3) N(2) What is the representation of the third element in
array N
B —e o AR¥ABS(-4.58) | 8
4.58 5 -4 4 )
The output of ABS(-4.58) is
EBaE | FBS | HFruay | Fos et s B S | 9
Global Local User define Built in From which category, INT function belongs to
function function function Function
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Answer bricfly any Four parts from the followings.
Define Debupping?
Write down the Himitntion: ol Flaowchnrg?
Write the syntax of F==~THEN--~[LST statement,
Write the difference between FOR~--NEXT and

WITTLE ==~ WIIND loop?

Write the names of control structures available in BASIC?

Write the difference between [li===THEN and
M= THEN=-~F LS statement,
Answer briefly any Four purts from the followings.

Whatis imcant by loading a program?

Definc keyword.

Diffcrentiate between variable and constant,

Write down the types ofwray.

Define subscripted variable,

Dilterentiate betwecn lling and printing ol'an array,
Answer bricfly any Four parts from the followings.

Write two types of subprogram?

What is the purpose of ABSC) function?

Write down the syntax of INT function.

Define User~Defined Function.

What is meant by Pixel?

What is the purpose of SCREENT statement in BASIC?

Note: Attempt any Two Questions.
Draw a flowchart to find the largest of three numbers.
Wrile the purpose and

() EDIT Gi) RUN Gid) LIST (iv) SYSTEM

Write the purpose and syntax of “LINE” statement, and explain

LN statement with cxample,

1036 -

syntax of the following commands.
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